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





















































 





30 






 







 



























 






 




 











 


 







  


 

 


 













35




  





      























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





















 




























  






















 

40



























 





 







 











 















































 















45 




























 














 

































 























 



 








50




 























 





 























  







      




















  




 



 

 

55 






























 









 



  
 

 































  
  









  







60





  





 




 
















   





































 






















65 


















































 



 


 























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1) f deleted from 4th course, here, Cf. bar 11.


